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CDS 2 2024 MATHEMATICS MODEL QUESTION PAPER
Time: 120 min. M.M.: 100
INSTRUCTION: Read questions carefully. For each wrong answer, one-third (0.33) of the marks assigned
to that question will be deducted. Each question contains (1) marks. /J%i &I &HYdd Ufey | e Terd
IR & forg, fau 1Y ol § & UaH—faerE (0.33) 3 HIC SR | Tdd U (1) 3fd &1 &

x3 + x? + 16 is exactly divisible by x, where x
is a positive integer. The number of all such
possible values of x is/ x3 + x? + 16,x

(c) Square of an even integer/ & ¥4 qulids T
e

(d) Square of an odd integer/ T& fawH quiies &t
It

e faursa 8, T8l x, Vs gt quiis 81 x 6.  If the number 23P62971335 is divisible by the
P U | G A B AT © smallest odd composite number, then what is the
(@) 3 value of P?/ afe wwar 23P62971335 Haxl BIC
(b) 4 faym wiog e 9 favrsg 8, @ P &l /19 &1 27
()5 (a) 4
(d)6 (b) 5
The number of (a, b, ¢) where a, b, c are (c)6
positive integers such that abc = 30, is/ d)7
(a,b,c) @ W& TEi a, b, c INHAS PNd & 7. What is the remainder when the sum 1° + 25 +
SN f& abc =302 35 + 45 + 5% is divided by 47/ <19 arT
(a) 30 15 + 25 4+ 3% + 4° + 55 &7 & fowfora faan
(b) 27 ST ® o 4 SIuthel 9T Brar 27
()9 (a) 0
(d)8 (b) 1
If the roots of the quadratic equation x? — 4x — (c) 2
log1oN = 10 are real, then what is the (d) 3
minimum value of N7/ afe ferems wiexor 8. Whatis the digit in the unit place of 39°7/ 3% &
x%2 — 4x — log;oN = 10 & 91 aRdfd® &, @l N SHIS RIF H B9 9T 3fd 87
BT FATH TH T &7 (@)1
(@)1 (b) 3
(b) = ()7
1 (d)9
©) 100 9. LCM of two number is 28 times their HCF.
(d) —— Then sum of the HCF and the LCM is 1740. If
Thelgﬂ?%ber of different solutions of the one of these number§ Is 240’ then what is the
equation x + y + z = 12, where each of x, y other number?/ &1 " w1 LCM S& HCF
and z is a positive integer, is/ TERT x + y + F1 2871 © dl HCF &R LCM &1 31T 1740 % |
z = 12, % fafi=1 9amm=l @) d9@n 98l x, y iR a?ﬁﬁwm%O%‘,ﬁWww
z¥H ¥ UAF & GRS IE 7, 87 &
(@ 53 (a) 420
(b) 640
(b) 54
© 55 (c) 820
(d) 56 (d) 1040
10. (x™ — a™) isdivisible by (x — a), where x # a,

If I = a? + b? + c?, where a and b are
consecutive integers and ¢ = ab, then I is/afs
[ =a%+b%+ c?><El a 3R b AR Plid 2
dMRc=ab@ Iz

(a) An even number and it is not a square of an
integer/ Te |9 AT SR U8 QUIG BT U o
SR

(b) An odd number and it is not a square of an
integer. / & faww Hw@ &k I8 quiie &1 aFf
T B |

for every/ (x™ — a™), (x — a), ¥ forsy g, <&t
X #a A% & foru

(a) Natural number n/ urefcie =1 n

(b) Even natural number n only/ &ad wTafa
=T n

(c) Odd natural number n only/ &aer faww
UTghfad =T n

(d) Prime number n only/@ddl 39Tsg AT n




11.

12.

13.

14.

15.

16.

17.

If 172929 js divided by 18, then what is the
remainder?/ afg 172920 1 18, fanifora fowarm
SITY ol 9 T BIRIT?
(@1
(b) 2
(c) 16
(d) 17

. 1 1 1
What is tre value of ™G + NN 41- NPT +
m+\/ﬁ+\/m?/1+\/7+\/7+\/§+\/§+\/1+ st

1
— %7 " @7 27
V99++/100 &

(@1
(b) 5
(©)9
(d) 10

14
If x™ = /x\/ x+vx, then what is the value of
X/ xVx A m BT A R’ Y

14

m?/ I x™ =
OF

1
(b)§
©;
(d) %
The sum of all possible products taken two at a
time out of the numbers +1,+2, 43, +4, +5 is/
+1,42,43,+4,+5 F==1 § 9 H G99 H Qo
@Y o9 R 4 |9Ifad ScaTel BT AT ®
@a~0
(b) =30
(c) =55
(d) 55
A train of length 110m is moving at a uniform
speed of 132 km/h. The time required to cross
a bridge of length 165 m is/ 110 #iex &€l t&
29 132 {5 /a1 &7 T 8E i 9 I &
21 165 %R &4 gal &1 UR H=A § o arel]
LD
(@)6.5s
(b)7s
()75s
(d)85s
The simple interest on a certain sum is one-
fourth of the sum if the number of years and the
rate of annual interestare numerically equal, then
the number of years is/ & = IR w®
AR TSl S 0 BT Uh—aArs & anfg auf
P T R S T B R ARIHD B9 A
RIGR B, A aul Bl HE 7
@25
(b) 3
(c)35
(d)5
A 60-page book has n lines per page. If the
number of lines were reduced by 3 in each page,
the number of pages would have to be increased

by 10 to give the same weiting space. What is
the value of n?/ 60 U= @1 frare & 9T g n

18.

19.

20.

21.

Gt 21 afe ue g H ufdal @ | 3
®H H I 1Y, A FAH Rad R o @ forg
USi $ W& 10 93 BRI | n BT AT 9T 2?
(@) 18

(b) 21

(c) 24

(d) 30

If x nmen working x hours per day can do x
units of work in x days, then y men working y
hours per day in y days would be able to do k
units of work. What is the value of k?/ afg x
&Y Yfifad x ¢ S aRe x IS BRI x a0
IR Ghd & Ay Y Ui QT y 8¢ B axa
y & # k 3318 & & # e B | k @
AN w7 27

(@) x*y~3

(b) x3y~2

©) y*x~3

(d) y3x 2

Let d(n) denote the number of positive divisors
of a positive integer n. Which of the following
are correct?/ A9 SRS d(n)Usd &HTHS QUITH n
D IIHD fAITSTRT BT AT BT ST 2 |
frfoRaa & 9 &9 a1 w81 27

1.d(5) =d(11)

2.d(5).d(11) = d(55)

3.d(5)+d(11) =d(16)

Select the correct answer using the code given
below: / 1@ f3U Y B¢ &1 SUWANT BB Aal
IR g

(a) 1 and 3/1 3R 3

(b) 1 and 2/ 131X 2

(c)2and 3/ 2 3R 3

(d)1,2and 3/ 1,2 3R 3

If A, = P, + 1, where P, is the product of the
first n Prime numbers, then consider the
following statemetns:/ aIf ST dgel T
H@13 BT UGS 7, Al FTAfIRad dod W)
faar &

1. A, is always a composite number./ A, |9<a
T HIGT TReT 2

2. A, + 2 is always on odd number./ A,, §aa
foww der w g 2

3. A, + 1 is always an even number./ A,, 34
g |qH A& B B

Which of the above statemetns is/are correct?/
SRIFT § H B A1/ HAFT a1 8 /87

(@) Only 1/ a1

(b) Only 2/ &aa 2

(c) Only 3/ ®ad 3

(d)2and 3/2 3R 3

A shopkeeper sells his articles at their cost price
but usesa faulty balance which reads 1000 gm
for 800 gm. What is the actual profit
percentage? /Td HTER U a¥I3Al BT AT
e WR d9d] © offdh U QIYUl TRIS) BT
SWRINTEG Rl § foraH 800 U9 & ferg 1000 I
forar grar § arafas @ ufoera @ 87

(@) 20%




22.

23.

24.

25.

26.

(b) 25%

(c) 30%

(d) 40%

A river 3m deep and 40 m wide is flowing at the
rate of 2 km/h and falls into the sea. What is
the amount of water in litres that will fall into
the sea from this river in a minute?/ 3 #iex &3

IR 40 Hrex ST U AT 2 fbl /der & a0 9 27.

FEdl 8 iR W= H AR 21 39 <1 9 v fAee
H 9qe H R a1el Ul @ A efier | fhan
g7

(a) 4000000 L

(b) 400000 L

(c) 40000 L

(d) 4000 L

If a television set is sold at T x, a loss of 28%
would be incurred. If it is sold at Iy, a profit of
12% would be incurred. What is the ratio of y to
x? | Ife TP efifao= I Tx WX 9= SV A 28

gfoerd @7 g1 &R | afe 39 Ty WR 99 o) ar 28.

12 fRIT BT @™ BT | y I X BT AT T 87
(a) 41:9

(b) 31:9

(c) 23:9

(d) 14:9

By increasing the speed of his car by 15 km/h, a
person covers a distance of 300 km by taking an
hour less than before. What was the original
speed of the car?/ T& i U1 HR BT (A 15
et / €eT deTax 300 f&H T @1 30 UBdl 9 U&
HeT BH 9T O] TF BRAT § | DR BT qol T

w7 A1 29.

(a) 45 km/h
(b) 50 km/h
(c) 60 km/h
(d) 75 km/h
Three person start a business with capitals in the

ratio % : % : % The first person withdraws half his

capital after 4 months. What is his share of
profit if the business fetches an annual profit of

111 ..
968007 /i aAfad S 1o ajwmﬁq\tvﬁ:ﬁ
Y Uh Jqdny W DXd %\| Ugcll Gldd 4 HalH

15 3T 3Mmefl Goft fepret ofar € | afe e %
96800 &7 aTf¥es I AT Hxar & ar oy F

I9HT o @7 87 30.

(a) T 32000

(b) 34500

(c) T 36000

(d) 36800

If x varies as y, then which of the following
is/are correct?/ If< x,y & I # gl g,
frforRea & 9 @9 Ar/9 w8 8 /8°

1. x2 + y? Varies as x? — y?/ x? + y? , x? —
y?® w9 # 43 g '

X - - X
2.2 Varies inversely as y / ﬁ,yiﬁ faodra o= 31.

BT 2
3. Y/x2y Varies as *\/x*y2 | .
Vx2y, Vxty? & R A B @

Select the correct answer using the code given
below:/ s fQT Y BIS & IUART TS L
IR G-
(@) Lland 2/ 1 3R 2
(b) 2and 3/ 2 3R
(c) Only 3/ &aa 3
(d)1,2and 3/ 1,2 3R 3
Ena was born 4yr after her parents marriage. Her
mother is 3 yr younger than her hather and 24 yr
older then Ena, who is 13 yr old. At what age
did Ena’s father get married? / TAT &1 S Iqd
AU BT AT & 4 ATel 91 83T AT | SAD
Al I9G TS A 3 AT BT § 3R T, S 13
A B 2, F 24 ATA 9 & | UAT & Uar a1 radr
frg 5o # g3 ofi?
(@) 25yr
(b) 24 yr
(c) 23 yr
(d) 22 yr
Mahesh is 60 yr old. Ram is 5 yr younger to
Mahesh and 4 yr elder to Raju. Babu is a
younger brother of Raju and he is 6 yr younger.
What is the age difference between Mahesh and
Babu?/ #2%1 60 a4 & © | IM, HeY ¥ 5 A4 BICT
2 SR RIS W 4 9N FST & | 919, JIS) BT TP BT
9 € 3R 98 6 9 BIeT B | WY SR 919 B d
I BT AR FT 8°
(@) 18 Yr
(b) 15 yr
(c) 13 yr
(d) 11 yr
The number of items in a booklet is N. In the
first year there is an increase of x% in this
number and in the subsequent year there is a
decrease ofx%. At the end of the two year, what
will be the number of items in the booklet?/ T&
gRaeT § axgell @ e N 2 ugel 99 # 59
@ 4 x% BT gl BT 2 3R 3Tl a9 H
X% B T BN & < af B i ¥, gRAT
TGS B A=A T R
(a) Lessthan N/ N &1 &
(b) Equal to N/ N @& &=Ta=T
(c) More than N/ N & 31
(d) It depends on the value of N / a8 N & e
R R Fxar ®
Ifab+xy —xb =0and bc+yz—cy =0,
then what is g +~equal to? af ab + xy —
xb=03ﬁ?andbc+yz—cy=0,?ﬁ§+
~ foperdh TR 27

y
(a)%
(b) 2
(©1
(d)o
What is the HCF of the polynomials x® — 3x* +
3x2 —1and x3 + 3x? + 3x + 1?/ 9gU=

x® —3x* 4+ 3x% -3k x3 +3x% + 3x + 1%
HCF = 2?2




32.

33.

34.

35.

36.

37.

(@ (x+1)
(b) (x + 1)?
) x> +1
(d) (x +1)°
The HCF and the LCM of two polynomials are
3x +1and 30x% + 7x%2 — 10x — 3
respectively. If one polynomial is 6x? + 5x + 1,
then what is the other polynomial? / &1 agual @1
HCF iR LCM %= 3x + 131k 30x2 +
7x% —10x — 3% | X gP dgus 6x% + 5x + 1,
2, A1 ST 9gUs R 87
(@) 15x% + 4x + 3
(b) 15x2 + 4x — 3
(c) 15x2 —4x +3
(d) 15x%2 —4x — 3
If (p+2)(2q—1)=2pg—10and (p —
2)(2q — 1) = 2pq — 10, then what is pq equal
to?/ 3 (p +2)(2q — 1) = 2pg — 10 &R
(p —2)(2q — 1) = 2pq — 10,1 pq fa®
IR &7
(@ —10
(b) =5
(©)5
(d) 10

. a’+ac a®-c?
What is the value of —— — ——————

2¢ 3 a’+ac a?-c? 2¢

a;—c2 a+c ' aZc—c®  a?c+2ac?+c®  a?-c?
—— @ A9 T 87

a+c

(@) 0

(b)1

ac
(C) aZ+c?

6
(d) —
What is the square root of 4x* + 8x3 — 4x +
1?2/ 4x* + 8x3 — 4x + 1 1 THA RIT &7
(@)2x?—-2x-1
() 2x? —x—1
(€)2x%+2x+1
(d)2x%+2x—1
The sum of the digits of a two digit number is
13 and the difference between the number and
that formed by reversing the digits is 27. What is
the product of the digits of the number?/ <1 3iwi
P! Th AT B IAb] BT TN 13 © AR 3Dl B
Idled | g AT IIR 6T & 41 BT SR 27
2| W= & 3Dl BT YOS AT 27
(@) 35
(b) 40
(c) 45
(d) 54

If = = 2 = _Z_ then which one of the
b+c c+a b—a y

following is correct?/ afd — = 2 = Z
. b+¢ c+a b-a

ffafed # 9 o9 @1 @@ 2°?

@x+y+z=0

b)yx—y—2z=0

©x+y—z=0

dx+2y+3z=0

38.

39.

40.

41.

42.

43.

X,Y and Z travel from the same place with
uniform speeds 4km/h, 5 km/h and 6km/h
respectively. Y Starts 2h agter X. How long after
Y must Z start in order that they overtake X at
the same instant?/ X, Y 3iR Z T &1 4 |
HHI: 4 T /Eer, 5 fd /Her &R 6 fhHl /der
D FAM A H I BT 2V, X B 2 €S 91
YR BRAT 81 Y B Z Bl fha- w9 918 RH
HAT AMRY drfs 7 AT &0 X & T vt
g

3
(@) Zh
(b)3h
(©)2h
(d)Zh
1—x—x™+ x™*1 where n is a natural
number, is divisible by / 1 — x — x™ + x™*1,
&l n UE UIgiae @@ 2, g
(@ (1 +x)°
(b) (1 —x)?
(€)1 —2x —x?
(d) 1+ 2x — x?
A Person sold an article for X75 which cost him
Zx. He finds that he realized x% profit on his
outlay. What is x equal to?/ T& &fdd = U I
Ix # 9O e dmd S9 T el | S99
6 I U UReT R x% o™ U B3N x e
AR 27?
(@) 20%
(b) 25%
(c) 50%
(d) 100%
A car didi a journey in t hours.Had the average
speed been x km/h greater, the journey would
have taken y hours less. How long was the
journey?/ U& &R W t €< § I 99 @ | IS
airad ey x fot /er aifdre &1, ar amm # y
¢ HH o | AT b= ofdr off?
(@) x(t — )ty
(b) x(t —y)ty~*
(€) x(t —y)ty=2
(d) x(t + y)ty
When a ball is allowed to fall, the time it takes
to fall any distance varies as the square root of
the distance and it takes 4s to fall 78.40m. How
long would it take to fall 122.50m?/ 51§ U& I
& R e Sran 2, a1 feh off & 9 AR o
S ATell §9T 9 & I @ JIGAR =1 grar
2 3R 78.40 Hex I fRA H 4 Abs BT 9
ST B 1 122,50 Hex =i fRe # o= w1
SRR
(@5s
(b)55s
(c)6s
(d)6.5s
If 63-4*4%*+5 = 8 (Given log,,2 = 0.301 and
log,03 = 0.477), then which one of the
following is correct?/ afg 63~4*4**5 = 8 (faa




44,

45.

46.

47.

48.

49,

T 8 logy02 = 0.301 3R log,o3 = 0.477) @1
fFfaRed § 9 o9 @1 9@ 2°?

@o0o<x<1

b)l<x<?2

©)2<x<3

d3<x<4

The Euclidean algorithm is used to calculate the/

IfFATSTT TATREGH BT SUANT TUET B & foTg
fopar e 2

(a) Square root of na integer/ qories &1 aF e
(b) Cube roots of an integer/ T& quiies @1 &+
SIS

(cj Square of an integer/ T quTies T T
(d) HCF of two integers/ &1 gurie &1 HCF

If radius of a sphere is rational, then which of 50.

the following is/are correct?/ afg f=ft et &
3roar deaTa g, 1 EfoRad § & &9 |1 /9
Hel B/ 8?

1. Its surface area is rational./ ST USRI &=%he
THETT 2 |

2. Its volume is rational./ 9&T IS dHEIT

&

Seleect the correct answer using the code given

below/fﬁ%lﬁnwmwwmﬂ‘é‘r Sl

SR G

(a) Only 1/ @adt 1

(b) Only 2/ &aet 2

(c) Both 1and 2/ 1 3R 2 <Mi

(d) Neither 1 nor2/9 @1 1 3iR 9 &I 2

If cosec @ —sinf® = m and secO — cos 6 = n,
4 2 2

4
then what is m3n3 + m3n3 equal to?/ afs

cosec @ —sinf = m 3R secH — cosf =n,dl
2 2 4

4
man3 + msn: fasd =R 87
(@0

(b) 1 52.

(c) mn

(d) m?n?

If cos 6 + secH = k, then what is the value of
sin%6 — tan?0?/ 3fe cos B + sech = k,ar
sin?0 — tan?6 &1 °9 w1 87

@4—-k

(b) 4 — k2

(c) k?—4

(d) k2 +2

ABC is a triangle inscribed in a semicircle of
diameter AB. What is cos(4 + B) + sin(4 + B)
equal to?/ ABC &9 AB dTel J1eig<l § a1 Ud

?ﬂﬁ 21 cos(4 + B) + sin(4 + B) fowad &R
24

(a)0 53,

(b) 5

©5

(d) 2

Consider the following statement:/ fFr=ferfad
FHF W IR &

1.sinf =x + % is possible for some real value
of x./ x & $B aR<APd 99 & oY sinf = x +
L ¥
X
2.cos0 =x+ % is possible for some real value
of x./ x & §B IAfAF 79 & foY cos = x +
i?‘f’ﬂ—c{ =
Which of the above statements is/are correct?/
SRR H | B A1/ HAT el 8 /80
(a) Only 1/ &aet 1
(b) Only 2/ &aa 2
(c) Both 1and 2/ 1 3R 2 gFf
(d) Neither 1 nor 2/ 9 @1 1 3iR 7 & 2
What is the magnitude (in radian) of the interior
angle of a regular pentagon?/ T& Hrafdd dervgt
@ IMARD BV BT gRATYT (ST #) T 87

A
(a)Tgt
(b)3g

T

(c) 4?
(o) F
The difference between two angles is 15° and
the sum of the angles in radian is i—: the bigger
angle is k times the smaller angle. What is k
equal to?/ <1 &l & drF &7 AR 15° % iR
R # B BT AT 2| T BT B BT
@1 k N € k fhad aRIeR 27?

4
(a)g
(b)g
(C)g7
(d) 2
Consider the following statements:/ fr=tfeRaa
FHHl R IR o
1. The equation 2sin?6 — cos@ + 4 =0 is
possible for all 8/ Tr&=oT 2s5in?6 —
cosf +4 =00 & foru dwa g
2. tan 0 + cot 8 Cannot be less than 2, where
0<6<Z/tan6 +cotf 2% FH F& &
o, el 0< 6 < 2R
Which of the above statements is/are correct?/
SWRIGd § | B A1/ AT FEl 8 /87
(@) Only 1 /&ad 1
(b) Only 2 /&dat 2
(c) Both 1and 2 /1 3R 2 gM(
(d) Neither 1 nor 2/ =1 @r 1 iR 9 &I 2
A road curve is to be laid out on a circle. What
radius should be used if the track is to change
direction by 42° in distance of 44 m?
(Assumen =%)/Q?5 Jd R UD ASH I
BT 81 % S BT 44 Wex B O # T 3w
geor B o fba B &1 Sy fear S
Bl
(@) 60m
(b) 66 m




54.

55.

56.

57.

58.

59.

60.

()75 m
(d)80m
What is the maximum value of 3sin® — 4?/

3sin @ — 4 &7 3IfAHaq 79 R 2 61.

(@) —4

(b) -1

(©0

(d)1

If sin @ + cos @ = /2, then what is sin® +
cos®0 + 6sin?0 cos?0 equal to?/ e sin6 +
cos 0 = /2 @1 sin®@ + cos®0 + 6sin?6 cos?6
frd® a_TER 87

(a) i 62.

(b)=

(€)1

(o)

What is the least value of 9sin?8 + 16 cos?8?/
9sin?0 + 16 cos?6 <ATH AH AT 27?

(@0

(b)9

© 16 63.

(d) 25
If cos47° + sin47° = k, then what is the value
of cos247° — sin?47°? afg cos47° +

%i?n 47° = k,d1 cos?47° — sin?47° &1 94 R
(@) kvV2 — k2

(b) —kvVZ — k2

(c) kvl — k2

(d) kI — k2

If cosec 8 — sinf = p3 and secH — 64.

cos 8 = g3, then what is the value of tan 6? /
Al cosec 8 — sinfh = p3 3R sech —
cos @ = q3,d tan O &1 79 FAT B7?

(a) %
(b)
(©) pq

(d) p*q?
If 0 < a,B <90°suchthatcos (e« —pB) =1,

then what is sina — sin § + cosa — cos 8 65.

equal to?/ af If 0 < a, f < 90° V=T &1 &5
cos (a — ) =1, dr & 8?2 BN

(@ -1

(o0

(1

(d) 2

Consider the following statements./ fFe=ferRacd
FHI R AR B |

1. The value of cos 61° + sin 29° cannot
exceed 1./ cos 61° + sin29° &1 99 1 I 31fdd
TE B AhT |

2. The value of tan 23° — cot 67° is less than 0.
/tan 23° — cot 67° T A9 0 HH 2 |

Which of the above statementsis/are correct?/
SRIFT H H B A $AFT Tl 8 /87

(a) Only 1/@aet 1

(b) Only 2 /&dat 2

(c)Bothland 2/ 1 3R 2 <i

(d) Neither 1 nor 2/ @1 1 3R 9 &I 2

In a quadrilateral ABCD, 2B = 90° and

AB? 4+ BC? + CD? — AD? = 0, then what is
£ACD equal to?/ v& =gyt ABCD ¥ ,4B =
90° 3R AB? + BC? + CD? —AD? =0«
LACD f&ad SRR 27

(a) 30°

(b) 60°

(c) 90°

(d) 120°

Ina AABC,AC =12 cm,AB = 16 cm and AD
is the bisector of 2A. If BD = 4 c¢m, then what
is DC equal to?/ AABC % AC = 12 ¥4,

AB = 16 51 AD, £A 3R &1 |Afg9Sd © | a3
BD = 4% 1 DC fd® a_TaR 87

(@ 2cm

(b) 3cm

(c)4cm

(d)5cm

ABCD is a cyclic quadrilateral. The bisectors of
the angles 4, B, C and D cut the circle at P, Q, R
and S respectively. What is £ZPQR + £RSP
equal to? / ABCD U& dsp1d agyel & | HIoT
A,B,C 3R D & |AfgHSI® g1 @l HH: P, Q, R
3R S R bred &1 LPQR + £RSP f6dad sRIaR
g?

(@) 90°

(b) 135°

(c) 180°

(d) 270°

ABC is an equilateral triangle. The side BC is
trisected at D such that BC = 3 BD. What is the
ratio of AD? to AB?? | ABC U@ w¥aTg Brys 2
ST BC &1 D WR 39 YbR i fbar mar €
f$BC =3 BD g1 AD? &1 AB? &1 3rgurad &I
g7?

@7:9

(b) 1:3

(c)5:7

(d)1:2

Consider the following statements:/ fe=tferRead
FHHl R IR o

1. The diagonals of a trapezium divide each
other proportionally. / F¥eid & fd@ol & gEr
H mguIfas w9 | o axd 7 |

2. Any line drawn parallel to the parallel sides of
a trapezium divides the non- parallel sides
proportionally./ @1 TR T3l & TR
G g BIg W1 & IR—FHHEIGR STl Bl
U W | i et 2|

Which of the above statemetns is/are correct?/
IWIFd # F B A1 /A BT el 8 /77

(a) Only 1/ &adt 1

(b) Only 2 /@aa 2

(c) Both 1and 2 /1 ik 2 gMf

(d) Neither 1 nor 2 /9 @1 1 3iR 7 & 2




66.

67.

68.

69.

70.

71.

72.

If H,C and V are respectively the height, curved
surface area and volume of a cone, then what is
3nVH?3 + 9V? equal to?/ afs H,C 3R V wwer:
3@ B Hdls, AR A8 &3 3R I g, af
3nVH3 + 9V ? 8 TR &7

(a) C?H?

(b) 2C?H?

(c) 5C?H?

(d) 7C?*H?

How many solid lead balls each of diameter 2
mm can be made from a solid lead ball of radius
8 cm?/ J¥ 91 arelt U SN W @Y g | 2
o ag areft fvae o Y @ A 918 o7
GETIR

() 512

(b) 1024

(c) 256000

(d) 512000

The two sides of a triangle are 40 cm and 41 cm.
If the perimeter of the triangle is 90 cm, what is
its area? /g R[S @1 a1 Yorg 40 AT 3HR 41
J 2| i Bt &1 uREM 90 I ©, AT g9l
G FT B7°

(@) 90 cm?

(b) 135 cm?

(c) 150 cm?

(d) 180 cm?

The diagonals of a rhombus differ by 2 units and
its perimeter exceeds the sum of the diagonals
by 6units. What is the area of the rhombus?/ U&
FTIGIS & fawoll # 2 SHE @I R BT 7 3R
SqH IRATY fdHauli & IRT 6 SHIS AfMH BT
2| TGS BT STk fhaT 5?

(a) 48 sq units

(b) 36 sq units

(c) 24 sq units

(d) 12 sq units

What is the area of a right-angled triangle, if the
radius of the circumcirccle is 5 cm and altitude
drawn to the hypotenuse is 4 cm?/ T& THBIOT
Pryst @1 &=l @1 €, gge uRga @1 3T 5
I § 3R vl dF Wi 7 HaArE 4 I B

(@) 20 cm?

(b) 18 cm?

(c) 16 cm?

(d) 10 cm?

In a triangle, values of all the angles are integers
(in degree measure). Which one of the following
cannot be the proportion of their measures?/ U&
ey # @ @Il @1 A7 o (Rl A #)
BT 2 | Fr=folRad & &4 &9 a1 9= Ay @
U &l B Fhdl 57

@1:2:3

(b) 3:4:5

(c)5:6:7

(d)6:7:8

The length of a rectangle is increased by 10%
and breadth is decreased by 10%. Then, the area
of the new rectangle is/Ta MId @1 &aTg 10

73.

74.

75.

76.

77,

78.

gfererd 9¢ el § SR dISis 10 Ufrerd &+ &
STl 2 | fhR, Y 3MId BT &5 ©

(a) Neither increasednor decreased/ = @r agT 3R
8 ger

(b) Increased by 1% / 1 gfarerd @ gfg

(c) Decreased by 1% / 1 Ufcrera &1 &1

(d) Decreased by 10% / 10 wfcerd @1 &H1

The surface areas of two spheres are in the ratio
1:4. What is the ratio of their volumes?/ gr Tl
& USRI SFHAl BT U 1:4 2| S I
BT AU T &7

(d) 1:16

(b) 1:12

(c) 1:10

(d)1:8

The length, breadth and height of a brick are 20
c¢m, 15 cm and 10 cm respectively. The number
of bricks required to construct a wall with
dimensions 45 m length, 0.15m breadth and 3 m
height is/t@ e @ <@g, dIeE IR HaTg HAM:
20 991, 15 I 3R 10 A B | 45 Hiex 9IS, 0.
15 Wiex Arerg iR 3 Hier $HaTg arell AR g9+
% oy aTaws gl @I W& ©

(a) 12450

(b) 11250

(c) 6750

(d) None of these/ s+ & @I =&l

If the sum of all interior angles of a regular
polygon is twice the sum of all its exterior
angles, then the polygon is/ af¢ v
ST B |T 3MARD DIV BT AN IHD AT
IR PION & AN BT IRAT B, AT 984 ©

(a) Hexagon / S&aTor

(b) Octagon / 3rscaTor

(c) Nonagon / st/

(d) Decagon / S&TTA

A bicycle wheel makes 5000 revolutions in
moving 11km. what is the radium of the wheel?
(Assumen = %)/Q?B Arsfeed & ufdar 11
fooit Tre™ ® 5000 TFHR T B UKy BT f$TH
e 287

@ 17.5cm

(b) 35 cm

(c) 70 cm

(d) 140 cm

The volumes of two cones are in the ratio 1: 4
and their diameters are in the ratio 4: 5. What is
the ratio of their heights? /a1 wiggall & amaa= &1
U 1:4 B TAT I ATH BT AU 45 2 |
SHD SHATS BT AT FaT 872

(a) 25: 64

(b) 16:25

(c)9:16

(d)5:9

Inatriangle ABC, if 2244 = 34B = 6£C, then
what is £A + «C equal to?/ T& s ABC ¥,
afe 244 =34B = 64C, 8, @ 2A + £C f59a
IR &7

(@) 90°




79.

80.

81.

82.

83.

84.

(b) 120°

(c) 135°

(d) 150°

If the perimeter of a circle and a square are

equal, then what is the ratio of the area of the

circle to that of the square?/ afe U& g1 3R UsH

i B IR RER &, A I B TG AR T B

&3hel BT U RN 87

@1:m

(b)2:m

(c)3:m

d) 4:m

The lengths of the sides of a right-angled

triangle are consecutive even integers (in cm).

What is the product of these integers?/ Ts

HABIOT ST DI TRl B Fqrs HANTT qH

;;vﬁzﬁ(ﬁﬂﬁﬁ)zﬁ??r%|sﬂqmﬁﬁmww
p)

(@) 60

(b) 120

(c) 360

(d) 480

A circle is inscribed in a triangle ABC. It
touches the sides AB and AC at M and N
respectively. If O is the centre of the circle and
2A = 70°, then what is ZMON equal to?/ 3yt
ABC ¥ t& g Sifeed € I goreii AB 3R AC
BT HALT: M R N W e dear 2| afe 0 g
BT be & 3R LA =70° &, A LMON fdae
IR &7

(@) 90°

(b) 100°

(c) 110°

(d) 120°

The sum of the squares of sides of a right-angled
triangle is 8450 square units. What is the length
of its hypotenuse?/ Y& FHBIVT R ST &1 oIl
@ T BT ART 8450 I THIS B | SHD Bl B
darg fohaer 57

(@) 50 units

(b) 55 units

(c) 60 units

(d) 65 units

A triangle and a parallelogram have equal areas
and equal bases. If the altitude od the triangle is
k times the altitude of the parallelogram, then
what is the value of k?/ ST 3iR T FHicR
TIS BT FHA 3R AR FAE BT 2 | IS
B @1 HdTs FHIIR TGS DI Harg A k AT
2, k &AM 97 87

@4

(b) 2

(©1

@3

Areas of two squares are in the ratio m?: n*.
What is the ratio of their perimeters?/ a1 a7t &
g%l BT U m2:nt g | ST ARFEAT F
RIS

@ m:n

85.

86.

87.

88.

(b) n:m

(c) m:n?

(d)y m2:n

AD is the median of the triangle ABC. If P is
any point on AD, then which one of the
following is correct?/ AD &1 ABC & HIfegeht
g1 3 P,AD W ®1g fdg &, 1 Frefefaa # &
DI AT HE 2?

(a) Area of triangle PAB is graater than the area
of triangle PAC./ 3:<1 PAB &1 &3thal 3t
PAC & &5%hd &1 3fda 2|

(b) Area of triangle PAB is equal to area of
triangle PAC./ <1 PAB @1 e%dl sl PAC
D &% B IR ¢ |

(c) Area of triangle PAB is one-fourth of the
area of triangle PAC. /<1 PAB &7 &F%hel
st PAC & &9%d &1 UG-l 2 |

(d) Area of triangle PAB is half of the area of
triangle PAC./ 3”51 PAB &1 &3%al sl PAC
& eTABE BT M T |

What is the area of a segment of a circle of
radius r subtending an angle 6 at the centre?/
a1 v 916l T g P Dba W O BT g4 aTed
TS BT qIBA T 272

(a) ;720

(b) %rz (9 -2 singcosg)

(c) %rz (9 — singcos g)

(d) %1‘2 singcosg
ABC is a triangle right-angled at C. Let P be any
point on AC and Q be any point on BC. Which
of the following statements is/are correct?/
ABC & [t & &t @Ivr ¢ Fwaior 8 w1
P,AC R &1 fdg 8 3k Q,BC &1 fig 2|
fefoaRad & & @9 91/9 $o9 WE 8 /87

1. AQ? + BP? = AB? + PQ?

2. AB = 2PQ

Select the correct answer using the code given
below:/ =& f3U Ty Bre BT SUANT HD ALl
IR G

(a) Only 1/&de 1

(b) Only 2/@adt 2

(c) Both 1 and 2/ 1 3R 2 <M

(d) Neither 1 nor 2/ @ 1 iR 51 &1 2

Four circular coins of equal radius are placed
with their centres coinciding with four vertices
of a square. Each coin touches two other coins.
Ift he uncovered area of the square is 42cm?,
then what is the radius of each coin?

(Assumert = E)/ T 30 & AR TMeldR

7

Rrad 9 IHR W T & 6 Sd dg Uh T B
IR Muf 9 7 @ 2 | uAS RIgdT & 3
el @1 8ol & | afe T &1 e &ama
42cm? B, A1 9P Rigd &1 FBoar w7 87

(@ 5cm

(b) 7cm

(c) 10 cm




89.

90.

91.

92.

93.

(d) 14 cm
The radii of the flat circular faces of a bucket are
x and 2x. If the height of the bucket is 3x, what

is the capacity of the bucket? (Assume T =

22 o g ~ )
7)/?35 qiec! @ FUTE MAThR BaAdl B [Ty

x 3R 2x 2| AT 91 B Fa1$ 3x 2, dl drec)
P AT T 27

(@) 11x3

(b) 22x3

(c) 44x3

(d) 55x3

If p,q,r,s and t represent length, breadth,
height, surface area and volume of a cuboid

respectively, then what is % + % + % equal to?/

I p,q, 1, s AR t HHIT: TH T DI @qTS,
AIeTs, Hdls, Ade & 3R Jad= &1 gfafafea

A, AT =+ =+~ i IR 7

s p q T
(@) ;2t
(b) n
©
()=
Fifteen candidates appeared in an examination.
The marks of the candidates who passed in the
examination are 9,6,7,8,8,9,6,5,4, and 7. what is
the median of marks of all the fifteen
candidates?/ T% uRle H Usg niedt Sufkerd
BU | O¥iEr H Sivl SHIGART @ 3
9,6,7,8,8,9,6,5,4 3R 7 & | Wl Uss SHCAR] &
3l BT AT T 8P
@6
(b) 6.5
(©)7
(d)7.5
If the yield (in gm) of barley from 7 plots of size
one square yard each, were found to be 180,
191, 175, 111, 154, 141 and 176, then what is
the median of yield?/ afe 7% wa a7 T
AMBR & 7 @Sl ¥ Sl & IuST (I #H) 180, 191,
175, 111, 154, 141 3R 176 UTS TS, O SIS BT
AT T 27
(a) 111 gm
(b) 154 gm
(c) 175gm
(d) 176 gm
Which one of the following measures of central
tendency will be used to determine the average
be used to determine the average size of the shoe
sold in the shop?/ g&™ # S ST dTel ST @l
3T MR FEiRT &= & forw ada wafr &
frforRaa # 9 5 SUg &1 SUART 3id
fiRa &= & forg fdar Srgam?
(a) Arithmetic mean / i@ wTforia A
(b) Geometric mean / ST e
(c) Median / #rfeaer
(d) Mode / #rs

94.

95.

96.

o

98.

100.

When the class intervals have equal width, the
height of a rectangle in a histogram represents/
9 I AR B AISls AN B @, o
e # U Smad @ Sarg g §

(a) Width of the class/ & & drerg

(b) Lower class limit/ f#=1 &t drm

(c) Upper class limit/ Sz a7 <

(d) Frequency of the class/ @efr @ 3gfr

The ages of 7 family members are
2,5,12,18,38,40 and 60 yr respectively. After 5
yr a new member aged x year is added. IF the
mean age of the family now goes up by 1.5 yr,
then what is the value of x?/ aRarR & 7 A<=l
BT TG HAY: 2,5,12,18,38,40 3fR 60 a9 2| 5 qY
® 918 x Y MY BT UP AT GG ST SNl @ |
Ife 3rg gRaR &1 3T 3Mg 1.5 99 98 SRl B,
T x BT 79 R®E?

@1

(b) 2

(c)3

(d) 4

The mean weight of 100 students in a class is 46
kg. The mean weight of boys is 50 kg and that
of girls is 40 kg. the number of boys exceeds the
number of girls by/ T& @& # 100 BTAT &7 3id
qo 46 fHATUT & | TSPl BT A ot 50
frdm & 3R oTefddl &1 3iIa aoi 40
fhaum 2 | dsdl & AT dsfhal o wer |
foa e 27?

(@) 10

(b) 15

(c) 20

(d) 25

What is the algebraic sum of the deviations from
the mean of a set of values 25, 65, 73,75, 83, 76,
17, 15,7,14?/ 919 25, 65, 73,75, 83, 76, 17, 15,7,14
@ Ue o " W fIged 1 SomIford IRt
27?

(a) -1

(b) 0

©1

(d) 2

The mean of five observations x, x + 2, x +

4,x + 6,x + 80 is m. what is the maan of the
first three observations?/ dfa araara-t

X +2,x+4,x+6,x+80 BT AT m B
qgel A JTdcldbl B AT T 87

@m

(bym—-1

c)m-—-2

(dym-3

What is the median of 2,4,6, .....,100?/

2,4,6, .....,100 &1 Ar" FT &7

(a) 48

(b) 49

(c) 50

(d) 51

The harmonic mean and the geometric mean of
two numbers are 10 and 12 respectively. What is
their arithmetic mean/ <1 el &1 gMIG




H_Twaﬁ‘\lvaﬁ—c‘ﬁﬂmww: 10 3R 12 & | SFPT

I Ay T &
()2
(b) V120
(c) 11
(d) 14.4
™
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